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Please check whether you have got the right question paper.

P C(_ﬁj en "5 N.B: 1. All questions are compulsory.
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2. Figures to the right indicate full marks.
3. All question carry equal marks.

Attempt any two of the following:

With reference to relevant research, explain how framing influences our decisions
and judgments.

Discuss how we acquire language with reference to statistical learning and critical
periods.

Citing relevant research, discuss the extent to which intelligence relates to (i) brain
anatomy and (ii) neural processing speed.

Attempt any two of the following;

Discuss the ‘instincts and evolutionary psychology’ ‘drives and incentives’ and
‘optimum arousal’ theories of motivation.

What are the social effects of social networking?

Are nonverbal expressions of emotion universally understood? Discuss with reference
to relevant research.

Attempt any two of the following:

What developmental stages did Freud propose?

Discuss locus of control and self-control from the social-cognitive perspective.

Does research support the consistency of personality traits over time and across
situations? Defend your position.

Attempt any two of the following:

Please note: Use of simple calculator is permitted.

(i) Calculate the mean, median and mode for the following set of scores: (7 marks)
45,47, 53, 52, 47, 46, 50, 49, 51, 45, 54, 48, 55, 54.

(ii) When is the median a more suitable measure of central tendency? Why? (3
marks)

Calculate the standard deviation and range of the following set of scores and the z
score of 67.

51, 67, 64, 58, 56, 63, 61, 59.

With an example, explain the usefulness of frequency distributions.

Attempt any two of the following;:

Discuss the origins of intelligence testing.

‘Want to be happier?” Present some research-based suggestions for improving mood
and increasing satisfaction with life.

What are the benefits of self-esteem? How do defensive and secure self-esteem differ?
(i) Prepare a frequency distribution table from the following set of scores: (6 marks)
W75 08 72 719570 14 12

7533, W 15, 13,70, 174 15, 74

I i a7 195 74 75, 71, 75.

(ii) Explain the z score in relation to the standard normal distribution. (4 marks)
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